


ABTOP: Tarbsina CbhrueBa

Ve a0BHBIC 0003HAYCHIS:
RA - ROJBIIO AMUTIYPYMM;
COH - CTOJIOMK 0€3 HARIIA:
Ip - NIPpUOABRKA;

YO - YOABKA;

(...)*6 - KOJIIMYECTBO MOBTOPOB

BsisreM BC€ 110 CImpaJin, He
¥ 320bIBas1 HANNOJTHATD JI€TAJIN
110 Mepe BA3aHNsA.




PyRu:
1. 6 cOH B KA

2.6 Ip = 12
3. (1 cOn, 1 IP)*6=18
4. (2 cOn, 1 IP)*6 =24
5-7. 24 COH
8. (2 con, 1V0)*6 =18
9-11. 18 cOH
12. (4 cOH, 1 V0)*3 = 15
13-16. 15 COH
17. (3 cOH, 1 V0)*3 =12
18-22. 12 cOH
23. CRJIAAbIBAEM JeTaAIb
OII0JIaM, IIPOBA3bIBAaeM 6 cOH




Horm:
1. HCMOYKA U3 38 BO3IVIIHbIX

| HeTeJIb, aJee BAKEM 10 00¢
r."~c'1*0p0111:.1 HEeNnOUYKN HAYNHAA CO
"/ 21 NeTJIH 0T RPIOYKA
Y 2.1mp, 5 COH. 4 COH B 1 IETJIIO, 5
J cOn, 1 1p =18

3. 2 [P, 5 COH, 4 1IP, 5 COH, 2 1IP
=20
14. (1 ¢, 1 IP)*2, 5 cOMH, (1 €OMH, 1
@ nIp)*¥ 4, 5 COH, (1 COH, 1 IP)*2 =34
TN (2 cOm, 1 1Ip)*2, 5 ¢OH, (2 cOH, 1
o np)*4. 5 COH, (2 COMH, 1 IIP)*2 =42
6-9. 42 CcOH




G 10. 16 cOH, 6 YO, 14 COH =36
/7 11.13 COH, 6 YO, 11 COH =30
12. 9 ¢OH, 6 YO, 9 COH = 24
13. 24 COH
14. (2 cOML., 1V0)*6 =18
15-17. 18 cOH
18. 12 cOH (HEeNmo IHbLIM Psij)

Ha 111 Hore HUTH 00pe3aeM,
3arpei.isieM. Ha 211 nore
HUTH OCTaABJISIEM -
NPOJI0/IRAEM BA3ATH TEJI0

BsizreM mernoury m3 6 neredab
OT 2 HOT'H! K 111,
NPUCOCMHSCM 3CPRAJABHO




, Teao:
| ¢/ 1.18 COH 1O 111 HOrE, 6 COH O
8. enoukKe, 18 coH mo 2i xHore, 6
COH 110 LICMOYKE =48
2. (7 con, 1 Ip)*6 =54
3. 54 COH
4. (8 con, 1 Ip)*6 =60
5. (0 cOH, 1 IP)*6 =66
6. (10 cOm, 1 IP)*6 =72
7. (11 cOH, 1 IP)*6 =78
8. (12 coH, 1 IP)*6 =84
0-14. 84 cOH
15. (12 cOmH, 1 Y0)*6 =78
16. (11 cOMH, 1 Y0)*6 = 72
17.72 COH
18. (1 cOH, 1 V0)*24 =48
® ® ©® ® @ ® ® " & ® " » & o &




19-20. 48 coH
21. (6 cOH, 1 Y0)*6 =42
22-23. 42 COH
24. (5 COH., 1 V0)*6 =36
25-206. 36 cOH
27. (4 cOH, 1 V0)*6 =30
28. 30 cOH
20. BBA3bIBAEM PYRI: 5 COH 110
TEJAY, 6 COH € PYROIL, 9 COH 110

TEJAy =30

/1aJ1ee, He 00PbIBAsI HUTh,
NPOI0IKRAEM BA3ATH rOJI0BY




l'oJ10BA:
1. 30 COH
2. (4 cOm, 1 Ip)*6 =36
3. (5 COH, 1 IP)*6 =42
4. (6 cOH, 1 IP)*6 =48
5. (7 O, 1 IP)*6 =54
6. (8 com, 1 Ip)*6 =60
7. (0 cOmH, 1 IP)*6 =66
8. (10 cOH, 1 IP)*6 =72
0-10. 72 cOH
17. (10 cOH, 1 Y0)*6 =66
18. 66 con
19. (9 oM, 1 V0)*6 =60
20. (8 comn., 1 v0)*6 =54
21. (7 cOH., 1 VD) *6 =48




22. (6 cOH, 1 V0)*6 =42

23. (5 cOH, 1 Y0)*6 =36

24. (4 cOH, 1V0)*6 =30

25. (3 cOH, 1 Y0)*6 =24

26. (2 cO1L. 1 V0)*6 =18

27. (1 o, 1 y0)*6 =12
28. 6 YO (oTBEpCTHE CTAHYTD,
4 HHUTDH 3aKpPeNnuTh, 00pe3arTh)

Y
1. 6 con B KA
2.6 1p = 12
3. (1 con. 1 Ip)*6 =18
4. 18 coH
5. CRJAAIBIBACM IHOIIOJIAM,

BSIZIREM 8 cOH
® ® ® ® @ ® ® " & ® " & & o &




Mopaoura:
v 1. 6 con B KA
: r-f 2.6 Ip =12

;/ 3.3 COH, 3 IIP, 3 COH, 3 1Ip =18

LR, b .
) 7 4.3 €OH, (1 €cOH, 1 1IP)*3, 3 COM,

(1 cOn, 1 Ip)*3 =24
5. 24 COH
6. 3 con, (1 cOH, 1 V0)*3, 3c0mH,
(1 cOH, 1Y0)*3 =18
7. 18 coeIMHUTECIbHbIX
CTOJIONKOB

)




